
ADMISSION TEST 2011: GEOGRAPHY 
Model Questions 

 
 
Syllabus: Plus 2 Level –  
(a) for students with Geography: Physical geography, Human geography, Economic geography,  Regional Geography  
                                                     (India & World), Practical geography, General Science, and Elementary Mathematics 
(b) for students without Geography in HS: General Information about Earth, India and World, Physics, Chemistry,      
                                                                     Mathematics, Life Science, and EV  
 
A. Objective Type (Full Marks = 50) 
Compulsory (Full Marks = 30) 
1. On the given outline map (−lM¡ j¡e¢Q−œ) of India, mark, shade and name the following (¢Q¢q²a L−l¡ /−nX c¡J Hhw e¡j 

−mM) — 
A mountain gap (¢N¢l -gy¡L) in south India, The Siwalik mountain range (¢nh¡¢mL fhÑa −nËe£), Areas  affected  by  Nor’ 
Wester (L¡m°hn¡M£ AdÉ¨¢oa A¾Qm), The Ganga - Yamuna doab (N‰¡ - kj§e¡ −c¡u¡h), Tea producing region, Area under 
Monsoon forest, The Assam valley, The region, called the mineral reserve (M¢eSi¡™¡l) of India.  

2. At the winter solstice (jLlpwœ²¡¢¿¹), the altitude (EμQa¡ ) of the noon sun (c¤f¤lp§kÑ) at 23½˚S is __________˚. 
3. If at A (20˚E, 20˚S) the local time (ÙÛ¡e£u pju ) is 10:00 a.m., at B (20˚E, 20˚N) it will be ____________  
4. Place where sun shines vertically twice a year: Kolkata / Karachi / Kathmandu 
5. Relative   Humidity   of   the   ascending   air   decreases.   True    /   False. 
6. The value of cos245 – sin2 15 = ____________ , and  if sin2x + sinx – 2 = 0, x = ____________˚  
7. A vehicle moving with a speed of 72 km / hour covers (A¢aœ²j L−l) a distance of _________ m in 1 sec. 
 
Any 10Q from the following (example) (Full Marks = 20) 
8. Interlocking spurs (nª́ M¢ma °nm¢nl¡) are found in the upper / middle / lower course of a river 
9. Nimbostratus / Cumulus / Cirrus is a rain bearing (hª¢øh¡q£) cloud.  
10. Basket of eggs topography (ï¢jl©f) is associated with: glacier / wind / deltaic rivers 
11. Man-land ratio is very low in: extensive commercial (h¡¢Z¢SÉL L«¢o) / plantation (h¡¢NQ¡L«¢o) / intensive subsistence 

farming (¢e¢hsS£¢hL¡pšÄ¡¢i¢šL L«¢o). 
12. Tick the correct match: millets – kharif / cotton – rabi / maize – rabi  
13. Transhumance (Ga¥−i−c ÙÛ¡ef¢lhaÑe) is practiced by: Guddies & Gujjars / Santals & Bhils / Birhores & Nagas 
14. A satellite revolves round the earth in a circular orbit; find the work done by it. ________  
15. Electromagnetic waves (a¢svQ¥ðL£u al‰) are transverse (Bs¡B¢s / ¢akÑL) waves. True / False 
16. Citric / Carbonic / Acetic acid is used for food preservation (M¡cÉ pwlr−e). 
17. Bio-diversity (S£h°h¢Qœ) is greatest  (p−hÑ¡μQ) in equatorial rainforests / high mountains / deep oceans. 
18. If ratio between the length of a pole and its shadow is  1 : √3 , the elevation of sun =  ______˚  
19. If AB is a fixed line, state the locus (p’¡l fb) of P so that AB2 = AP2 + BP2. _______________________  
20. If the weights of two bodies are 2.0N and 2 kgf respectively, their masses are _________ and _________  
 
B. Short Answer Type: (Full Marks = 50) 
Compulsory (to be answered in English; Full Marks = 10) 
1. What are the present career options (¢h¢iæ hª¢š) of a geography graduate and which one will you choose and why 

(−L¡eV¡ a¥¢j −e−h Hhw −Le)? 
2. Give reasons for sharp rise (A¢a â¥a hª¢Ü) in world human population (fª¢bh£l SepwMÉ¡). 
 
Any 4Q from the following (example) (Full Marks = 40) 
3. Why is the rainforest (hª¢øAlZÉ ) so named? 
4. Most of the hot deserts (Eo·jl¦) are located on the western part of the continents (jq¡−cn). Why? 
5. Give reasons ― iron (−m¡q¡) is not extracted (¢e×L¡¢pa) by electrolysis (a¢sv¢h−nÔoZ) of its oxides, but aluminium is.  
6. The base (ï¢j) of a right angled (mð) pyramid is a regular hexagon (osi¥S) whose area is 24√3 sq cm. If the area of 

a side face (f¡nÑam) is 4√6 sq cm, what is its volume (Buae)?  


